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Address

AC=16,CR =16

Contrl unit

A 4

[or ]
EX

Control Memory
128x10

$ AR : Address Register SBR=11,CAR =110
Memory

> 2048x16 PC=12,AR =12
AC=16,CR =12

MLX PC : Program Counter SBR=7,CAR =16 (v
l PC=12, AR =11
AC=12,CR =12

PR AC : Accumulator SBR =16 , CAR =16 (¢
— PC=11, AR =11

DR : Data Re gister SBR=7,CAR =7 (f
PC=11,AR =11

AC

AC=16,DC=16
L
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Datapath Control Section

(Data Section)
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CPU
(ALU, Memory Input and
Registers Output(I/0)
andControl)
A I Y'Y
[ | Data Bus
System Bus [ - ] Address Bus
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From Data Bus ——=>
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L85 a0 5 O yee 4 olgi e |y (datapath) sols e J3s glaciond o bLS | o

Register
File

To Address Bus

Register Register
Source 1 Source 2
——— >
< Control Unit selects registers and ALU
M / To Data Bus
ALU R

Status to Control Unit

Register Destination

Al g Wga o0 glédﬁlégdom)jb Olgre @ ALUdlﬁ 89,9 99 “_,>J).':.;S.\.>|5 Ly oMMg,JkngJLiMmobeLdl)o
slasig, sl o Ll ol Gl oo a5 aiil o (BUS) S jiis o5 )35 soimoylis puses bghs 00,5 oo Jaiie dabie juws, 4 ALU I Ll

905 3w ool pgar Juad y0 0dd (o)

ALU 2,5 JUiil gl waie juwz, Sl sl 5 950 oolitsl 5ol (o S 5l Glgi oo ALU (63555 6oy 51 o y2 Sl (6l

Dgu salazul Gﬁbw)dy‘ LS‘)'.’ )..\S;"o o )‘ CamurdlS
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Input
> Ry
> R
> Ry
> Ry
> Rs
> Rg
> R,
lVVVVVVV Y VYV VYVYVY VYN
H H
Load SELA< —> MUX MUX <—  SELB
(7lines) — <«
3x8 A bus B bus
Decoder 3
T =3 N
OPR —> ALU
SELD —>
—>
Y
output

slecls sl (e 55 bwg iz oo iload oslinsl ALU ;o (ihats 5 (Sloslrs Slilos £55 e pslate & IS5 (0l )0 OPR glaces
23,5 o Dbl waie L3 lgte 4 ks 51 o (load) (5,5 b Las wgge 3X8 Justs 5l oolitnl b g wisd oo oy ALU (59,4

woled 5T 5 Sllae (JS glaJuSms ol b il J55 9>l R <= Ry =R Jae plowl gl Jlo sz @

08 sl MUX 25,5 olsie & Ry ol bl el o g y5b 4y SELA Lghas pouns
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235 Jld Rg old & basyo (0,5 )b bas a5 (5,5 4 SELD bghas o -
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3—bit 3-bit  3-bit 5—bit uﬁ; ).la.: 2 ) Sy

SELA | SELB [ SELD | ORR |

Binary Code | SELA | Input | SELD
000 Input | Input | None
001 R1 R1 R1
010 R2 R2 R2
011 R3 R3 R3
100 R4 R4 R4
101 R5 R5 R5
110 R6 R6 R6
111 R7 R7 R7

5 asS e e ALU il 1) o )L5 63955 95250 sloyoSly e o551 sl 000" 1, SELB SELA il bghas 45 >
59555 Jitio )5 4 wilgi o ALU _gy5 oo b <l ol 5 Lol 05 soi solicil daio &l olyic 4 LS g olS5T wsly SELD =000 31
D) 1E el sy (2o o
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Sl 0ol JuSis LS ol jar 3late 5 dwloe oy 51 (Y

Db e ogee sl g CPU cSas (oo w0l sla g, ol giws acgoma Jolis (V
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omgoaalp o 51 CPU Jsls 1500 liat bl oylo 5o o g atis da Joadljgiws docsld @ 095 sl (gl pmgiaslp «V» a5 dewly M
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ol 5o a5) ol 1,5 ALU (63,9 51 U 1, socinociin s asly S latime L 0,n5 )5 ALU oo s wilsi o bty 0,555 @
shls ALU cal> ool 10) 0,25 1,3 ALU 54,5 5| G 05l o0 ooimocuid oy b (aib o preshifting ool ¢l )ls ALU >
(2L e postshifing e LB

aSL ol o5 (AC) o, ol sasasyylis A sles a5 awnles €8s sl odal 5 Jgaz ;0 08,5 (pnd Bilgs o OPR slacs Lwg a5 Slles
ailos ALU j5 B o5 )38 (655,5 0omnslis 55 Boles g el o Sl sl puSly e Ly a ol L5 jslace

25,5 0 a8lol a0 )lg ALU & 65,35 lawgs a5 SLS 4 a1y G o1 wslb OPR = 00001 31 Jlws lsie a

OPR Select Slaloe Slos
00000 Transfer A TSFA
00001 Increment A INCA
00010 Add A+B ADD
00101 Subtract A-B SUB
00110 Decrement A DECA
01000 AND A and B AND
01010 OR A and B OR
01100 XOR A and B | XOR
01110 Complement A | COMA
10000 Shift right A SHEA
11000 Shift left A SHLA




s3n sl 5 o 0 ol L Bl S aslS a5 ol Ry €= Ry =Ry Jos ool wgllas 08 33 Jlr
SELA =010 syl jasia |, Ry ols al ALU j A 055

SELB =011 syl jaseie |, Ry ols al ALU 51 B (g0, -

SELD =001 555 ools 1,5 Ry &l 5 sl 4zt -

OPR = 00101 55 plowl ALU ;5 wb 0,5 llac 3, -

b wlss Jlio ol y5 53,90 4alS wigas J S aalS sl e 4] JSb Bl 58 ald 4 cpols )3 oa LS
el ok ) g olsie & %o S aalS iz ) s 52

Microoperation SELA SELB SELD OPR WIS salS
R1<R2-R3 R2 R3 R1 SUB 010011 001 00101
R4<R4vR5 R4 RS R4 OR 100 101 100 01010
R6«R6+1 R6 - R6 INCA 110 000 110 00001

R7<R1 R1 - R7 TSFA 001 000 111 00000
Output<«—R2 R1 - None TSFA 010 000 000 00000

Output<Input Input - None TSFA 000 000 000 00000

R4<-shl R4 R4 - R4 SHLA 100 000 100 11000
R5<0 R5 RS R5 XOR 101 101 101 01100

So b (e el s, SO Gledlll ! (INC) Sy S goly SOl asile wsyl ALU 5809 o 4k had a5 > o
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Jedl ol 5o Yeol) ail o o,skaie aan (Accumulator) s,Lsl oLs <, sl,ls cpu a5 Single Accumulator Organization —
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(three —addressed instructions) (ow 87 aw &f ygawd
op ,A,BC Db o Jlie &g s oyl dw Sl jgiws IS S
o) s ol abisl> 1 ol S L g CPU Bl G ssiaslis asilg o C g BlA 5 wle o asin |, (Operation) Jee S, Op oS
ilee p) D)pe A Hgtwd
Pt
op A,B,C > A«<Bop C
%/—J

ol d psrss IS IS
Bbion 25 Dyge 4 ouydl e Cap S 50 X=(A+B)X(CHD) aslons 4y by po el Jlie lsie 4

Instruction [09ga.0
ADD R1,A . B R1<M[A]+M|B]
ADD R2 ,C,D R2<M[C]+M[D]
MUL X , Rl , R2 M[X]«-R1*R2

L oS coul aladl> 0 saiglae MIA] I okt 5 .0igd o ooliiwl Sls gulis 038 gl cindi> ;o a5 anib oo CPU slsls Ry 5 Ryl o a8
Do o atie A ol
g oo Al yiaS Oljgiws olawi b aS > 04d o 2SS aasl 5 Job 1y 30
el SYsb Dl gy Job tae
ilso 513 0yle0 ) Sy oIS s yoT duw 5o g JISb! ¥ Jlio S
sl ool s 53,5 aseiie (sl (50L5 slacan 1o 5w 5k p % ()
b, Slawlxes sl o oligS (¥
ool (59, » 5V g0e5T LS 5l onlazwl (¥

plaSere (F

ol oo (V) 438 )0 e a4 dzgi b €YD 45§ @»bm

:(two — addressed instructions) (w87 g& o yguwd
op AB 125 5 hlie O jgo 4 Glsise |y (ool 50 Dl pgiass S S
wlge 23 Dye @ ol porde oS
pothe
op AB———> A« A op B
led pasedie |y alibl> 515 S b g ail CPU Gl G Wil e a5 cE S walys 13 A 9B g A (g5, p s 00 Sles gl amt ol ple
el ol s yol 90 o 3 5 ;0 X=(A+B)X(C+D) aculoes 4y abgsyo asliyy 5 50

Instruction (09@20
MOV Rl , A RI1I<MJ[A]
ADD R1 , B R1<RI1+M[A]
MOV R2 , C R2M][(C]
ADD R2 , D R2«<R2+M|[D]
MUL R1 , R2 R1«<R1*R2
MOV X , Rl M[X]«R1

:(One—addressed instructions) w7 &3 &1 gawd
s 1y IS & (ol ST Sl ygims IS 050
Pothe
op A— > AC«—AC op A
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Aii lBi C; g o0 43,5 5 45 s oyl ploxl
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} I
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i
| Adder |

ools el Wb o 0 OlS o cwuns S | axlad Rs ol g pgo e Ry g Rp slocli ¢ Jsl azhad Ry g Ry slacls 2 LM
2 R0 o R & U ) Py 5 9Py 435 N3 9 29 Rty oWl
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